
conducteur électrique

S

•
−→
j

−→n



circuit

r

M

−→u

−→
d`

•P
I

•
−→
dB



dI

dS

−→
d`

−→
j



z

I

Fil électrique

r
•θ

−→
B (rθ, z)



−→
d`

C

−→
B (r, θ, z)

θ = θ1

θ = θ2
•

r

θ

Fil électrique

�



Fil électrique

N = 1 enlacement

C1 �

N = 2 enlacements

C2�



I

C



I

Fil électrique

C



−→
j

C

−→n

dS



z

a

−→
j

rC

−→
B (r)



−→n ext

S1
C

−→n
S2

−→n = −→n ext



z

a

−→
j

rC

−→
B (r)



z

a

−→
j

courant d`



−→
B1

A B
−→
js

CD

−→
B2

−→
t

−→n12h

S

2

1
Nappe de courant



z −→
js

−→
js

−→
js

�−→js
1
2

−→n12

−→
B int



`

I0


